# REW) DATE DESCRIP TN
MODELS 24 GA SHORT| 27 GA SHORY [27 GA FLUSH| 27 GA LONG | pone weronr RN o0 I F14x5/5" SHEET L5 D I —— T
CLOPAY 4400, 4401 4300, HIG 43491, HDGF 4310, HDGL v T ONE SHAP LATCH OH METAL SCREWS 6 | 7/2005 UPDATED CORE AND FOAM REFERENCES
UP 19 70 2 o supe sour BAGH S0 0F 0008, 7| 9/2007 | AUDEG OPTIONAL MPACT RESISTANT LIVES
HULMES _—- 66, 666, 6200 | 68, 6201 |67, 676G, 6203 7737 TO 807 ] 3 ouTSioE : ey T, VERTCA. 8 [ 10/2007 | CORRECTED ROULER GETAIL.
23" T 89 5 4 HAOLE £0CK DH 8] " " o 9 | 05/12/08 [ ADDED MPC NFG AND HDGF, 668G, 676, 680
IBEAL, - SP200 SF200 SE200 S0 106 € ry Lo0 BAR gt s A 1/ 43 /4" SELS 10| 12716708 | WAX HY WAS 13-,
109 T 155 Z 5 BiOs i oo sy 2 A1 o0 oo APFING SCREWS T4 8/2010 __| REVISED. FOR 101,
WALENT N : FOR ANY OF THE MODELS USTED O 5 3 LUISDE KPR L00K S s JE e HnE e v
ON THIS DRAWING, THE FOLLOWING W—~LEVEL DOORS USE EQUIVALENT TGO T 5 2 L5 tin 100me : HS0E RatOLE o
SECTIONS (UP TO THE MAXIMUM WIDTH ALLOWED ON THIS DRAWING). o i 5 SATIE KEVED Lock 14 GA_END HINGES 18 GA. INTERMEDIATE HINGE
W1, W4, W6, W8. MAX_SECTION HEIGHT! 51° VIEW "B" ViEw "¢"
ANY OF THESE W~LEVELS MAY BE SHOWN ON THE OPTIONAL SHIPPING (NOTE: 14 GA. INTERMEDIATE
LABEL ON THE END STILE. 2" % 3" x 0.0387 MIN GALVANIZED STEEL BACKER PLATES ATTACHED TO DOCGR SKIN WITH N D0OR HoELS S TRIoR
PATENTED TGG-L~LOC SYSTEM (NOT VISIBLE FROM OUTSIDE). REINFORCEMENT PLATES ARE
LOCATED AT THE TOP AND BOTIOM CF EACH SECTION AT EACH HINGE LOCATION.
——
% OPTIONAL: ONE ROW OF iMPACT-RESISTANT —l T—Z" THICK 5t |ICONE FILLED CHANNEL SEPARATES
» P z 2 GLAZING IN EFFHER TOP SECTION (SHOWN) FRONT AND BACK SKIN OF DOOR
Z ol % # "% |V % OR NEXT—TO-THE-TOP SECTION (NOT 12 GA GALV. STEEL TOP SECTION B8-B
: SHOWN). e ROLLER BRACKET, EACH -~ DETAL 'D’
MAX, GLAZING SIZE IS 18-1/2" x 11" BRACKET ATTACHED W/{4) /
h GLAZING IS INJECTION MOLDED GE LEXAN #14x5/5" SHEET METAL =
T SLX24327, AN APPROVED CCZ PLASTIC IN ) EerEWS, o e———
© ACCORDANCE WiTH IBC/FBC 2608, ' ' MULTIPURPOSE
- SEE SECTION B~B FOR ASSEMELY DETAIS. -
! 1.95” THICK, 1§ DENSITY EXPANDED T DR GRaTE  HIGH BOND TAPE.
" /“*“PGLYSTYRENE FOAM INSULATION LAMINATED i DECORATIVE
= TO BOTH EXTEROIR AND INTERIOR SKINS. FRONT FRAME FACAGE, ITHiS DOGR MEL'S THE REQUIREMENTS OF THEI
% LOCK POSITION {BOTH SIDES). SEE m FOAM INSULATION 15 AN ASPROVED FOAM LARGE MISSILE IMPACT AND CYCLIC TESTING.
* LAYOUT OF EACH LOCK FOR DETAILS. — PLASTIC (PER FBC 2612.2) AND MEETS
o REQUIREMENTS OF FBC/?BC 2603.4.1.9. ; THIS DOOR MEETS OR EXCEEDS THE DESIGN
g > LOADS FOR THE WIND SPEEDS LISTED BELOW
& 0186 } \ ACCORD%IE!GS gg )THE FLORIDA BLDG., CODE
: 27 GA. MIN. G—30 (OR EQUIVALENT) 14 GA. GALY. STEEL END " OR 18C (ASCE7) FOR THE FOLLOWING
pé EXTERIOR STEEL SKIN WITH BACKED—ON HINGE, EACH FASTENED TO DO drCLOSED BUILDING, 2) DOOR
? POLYESTER PAINTED TOP COAT APPLIED END STILES W/(4) #14x5/8" : , 2 OF WiDTH IN BUILDING'S END ZONE,
TO BOTH SIDES OF STEEL SKIN, 20 “SHEET METAL SCREWS AND : 2) IMPORTANCE FACTOR OF 1.0, 4) ANY
/ {4) 1/4"%3/4” SELF IMPACT RESISTANT GE SSG4000AC- STRUCTURAL ROOF SLOPE, AND 5) 50% SAFETY FACIQR.

MAX. DOOR WIDTH = @'-0"
NS AT

IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING

LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES:

1} THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 SOUTHERN
YELLOW PiNE WOOD JAMBS MOUNYED DIRECTLY TG THE SUPPORTING STRUCTURE TO
CREATE THE MOUNTING SURFACE., ALTERMNATIVELY, THE BRACKETS MAY BE ATTACHED
OIRECTLY 70 THE SUPPORTING STRUCTURE., SEE DETAIL BELOW. THE CENTER OF
SCREW HOLE MUST BE AT LEAST %" FROM BOTH EDGES FOR A 5/16" LAG SCREW.

2)F THE WALLBOARD 1S NOT CUT AWAY TO EXPOSE THE UNDERLYING STRUCTURE (WOOD
FRAMING MEMBERS), A 2X5 SOUTHERN YELLOW PINE WOOD BUCK OVER SHALL BE
INSTALLED THE WALLBOARD FRAMING THE OPENING USING THE JAMB ATTACHMENT
FASTENERS LISTED BELOW. HOWEVER, THE JAMB ATTACHMENT FASTENERS MUST BE OF

TOGNGUE AND GROOVE JOINTS:

A SUFFICIENT INCREASED LENGTH TO ACCOUNT FOR THE THICKNESS OF THE

WALLBOARD TO ENSURE PROPER FASTENER EMBEDMENT INTC THE STRUCTURAL
FRAMING MEMBERS OF THE SUPPORTING STRUCTURE.

" TAPPING SCREWS

3" TALL x 20 GA, GALV.
STEFL U—BAR, TWO PER
DOOR SECTION. ATTACHED
WITH 1/4"x3/4” SELF
TAPPING SCREWS PER U-BAR,
(2) ON EACH END & (2) AT
CENTER HINGE LOCATION.

27 GA. INTERIOR STEEL GALV. SKiN
WITH A BAKED—ON PRIMER AND A
BAKED—ON POLYESTER PAINTED TOP COAT
APPLIED TO BOTH SIDES OF STEEL SKiN.

15 GA. GALV. STEEL BOTTOM BRACKET.

ATTACHED WITH (2) #14x5/8" SHEET METAL SCREWS.
ALUMINUM EXTRUSION & VINYL WEATHERSTRIP,
STOP MOULDING BY DOOR INSTALLER (10 SUT) -

ONE~PIECE INJECTION
MOLDED GE LEXAN
SLX2432T FRONT
FRAME & GLAZING.

SILICONE  SEALANT,

POLYSTYRENE RETAINER
FASTENED TO FRAME WiTH
(10) #8 x 3/4" PAN HEAD
MACHINE SCREWS.

TRAGK.. CONFIGURATION

13 GA. GALV. STEEL FLAG BRACKET.

WING SPEED (MPH)
EXPOSURE LEVEL
MEAN ROOF HEIGHT

5140 150 150
B or C B [
3G 30 25

TRACK CONFIGURATION ABOVE THE
DOOR OPENING DOES NOT AFFECT
THE WIiND LOAD RATING.

HORIZONTAL TRACK SUPPORT BY
DOCR INSTALLER (TO SUIT)

LHR TOP BRACKET

TOUBLE HORIZONTAL

TRACK
18 GA GALV, STEEL END STILE =
| e Frow a6 : .
v 2%6 YELLOW PINE JAMS " i1 ] DORIBLE YRACK Hlél?gg? v
" i2 GA. GALV, STEEL TRACK a3 86" LYy
] SR G o = G
VAN WOOD LA ‘SCREW VER BRACHET. 18 GA GALY, FNGE. EACH HINGE z 56| 1007
: J N FASTENED TO SKIN WITH {4) #t4x5/8" i 96 106
meﬂm%@gg@% SHEET METAL SCREWS. SEE VIEW "C". k= | 1007 | 1ier
- 7/167 ROUND PUSHNUT 5 INSTALLED ON EACH ROLLER SHAFT. o e ¥ -
EACH BRACKET ATTACHED WATH ONE o K £18
1/4™x5/87 BOLT & NUT OR 14 GA, GALY. ROLLER HINGE, EACH HINGE FASTENED TO END o 2 .
THO 1/4" RVETS. STULES WiTH {4) $14x5/8" SHEET METAL SCREWS AND (4) 2 i g | 124
1/4"x3/4" SELF TAPPING SCREWS. SEE VIEW “B" 2" GALV. STEEL TRACK, e | 1307
P RATH AMES BY JAMR CONFIGURATION Lo 10 gall SHORT STEM STEEL ROLLER WITH STEEL OR NYLON TIRE. ] | TRACK THICKNESS: 080" 120 | 138”
TION e EREEARATION OF JAMAES BY OTHERS, e " H mer T Tam
y.] :[: r Ll
VERTICA ACHMENT (WOOD FRAM DINGS): PR 2 130" { 1497
3/8"x3" LAG SCREWS ON 24" CENTERS. 1--1/8" 0.D. WASHER REQUIRED. LAG SCREWS HWITH A RAISED SEW, (EKAOSS). b iig 1123
MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE. @ ) 8’ .
NQTE: THE DESIGN OF THE ¥ ] T -
HORIZONTAL JAMBS DO NOT TRANSFER LOAD. SU?PORTINS;H g“;‘égé”m LEMENTS g H , 1;'3' igg’
SHALL BE ONSIBILITY OF 2 by TYP. 2-1/2"x12 GA. GALV.
TICAL_JAMB ATTACHMENT (G— O 00 _PSI M COLUMNY: o F v
o W THE PROFESSIONAL OF RECCORD FOR O STEEL TRACK BRACKET 156 178
3/87x3" SLEEVE ANCHOR BOLTS ON 15" CENTERS (2,000 PSI MIN. CONCRETE). . o 5
WASHERS INCLUDED WITH SLEEVE ANCHORS. N oA e STRICTORE AND MAX, 0.C. SPACING NOT TO 1 160" 1 184
OR EXCEED 147,
. . . BULOING CODES FOR THE LOADS -
CENTERS (=80 BLOG 1~ 0. WHHERS ceaomen W Tastons, > O LSTED ON'THE. DRAWING. d B
ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING Fesz e i DESIGN LOADS: +48.0 PSF & ~60.0 PSF.
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD. — i TEST LOADS: +72.0 PSF & -90.0 PSF.
' o WANUFACTURING FRDBUCT CODE] e poay vomeosn parawe | T00RH DO ST
) MPC: OSIE-1F171 g'0"W % 16'0"H
OTHER JAMB CONFIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGN DESIGN ENGINEER: MARK WESTERFIELD, P.E. @@@y %ﬁ?’“‘éﬁ%’%&% PRODUCTS COMPANY fmee /195 e
PROFESSIONAL MAY ALSC BE EMPLOYED TO APPROVE ALTERMATE FASTENERS AND/OR FLORIDA P.E. §48495, : T o on e5een o . 43{10 GL,
JAMB CONFIGURATIONS. NG P.E. #23832, BUHding Produc‘}s MWW OO/DOR:\.;M 21O 4400 /01
TEXAS P.E. §91513 Company (513} 770 - 4800 creE B 101703 10l




